efficiency efficiency efficiency

efficiency

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

iaad 2 2 2 T T 2 S S R YR e FY TR L Z R L A S AR NS S 4 e X D TR A g e T = o g

wheel 0 chamber 2 sector 10 sl 2 layer 4 I
3

10 20 30 40 50

cell

—~ e __

M a f T s DA ST T R T T e A A a ey D r e s g g 2 2 D D A e 2 ww 2 2 TR o2 2L LT D

wheel 0 chamber 2 sector 10 sl 2 layer 3 I

10 20 30 40 50 cell
S 000000000000 009000900 99500 oot evesveiseesetessee’

wheel 0 chamber 2 sector 10 sl 2 layer 2 I

10 20 30 40 50

cell

—— — — — —— - P—

wheel 0 chamber 2 sector 10 sl 2 layer 1

ml__

10 20

cell



